

Imię i nazwisko

Zadanie 1 – Uprość wyrażenia:

wzór	$3x - 2y - 6x + y =$	$3x - 6x - 2y + 1y = -3x - y$
a	$7x - 5 + 2x - 4 =$	
b	$-8x + 3m + 5x - 6m =$	
c	$1,2x - 3,8 - 5,6x + 1,7 =$	
d	$-4,8x^2 - 4x + 5x^2 + 2,3x =$	
e	$1\frac{1}{3}x + \frac{5}{6} - 4\frac{1}{2}x - 1,5 =$	

Zadanie 2 – Uprość wyrażenia:

wzór	$(3x - 5) + (2x - 8) =$	$3x - 5 + 2x - 8 = 5x - 13$
a	$(7x - 8) + (5x - 3) =$	
b	$(-4a - 5) + (-3a + 7) =$	
c	$(-1,8x^2 - 4) + (5x^2 - 0,3) =$	
d	$(\frac{1}{2}x + 1\frac{5}{6}) + (-1\frac{1}{3}x - 2,5) =$	

Zadanie 3 – Uprość wyrażenia:

wzór	$-(7x - 3) - (5x + 1) =$	$-7x + 3 - 5x - 1 = -12x + 2$
a	$-(8x - 3) - (-4x + 4) =$	
b	$-(-7 + 2x) - (8x - 12) =$	
c	$-(5 - 4x) - (8 + 12x) =$	
d	$2(x + 5) + 3(x - 6) =$	

e	$3(x + 2) - 3(x - 5) =$	
---	-------------------------	--